ENHMAFEHFRASHAEHLER(EER) 20144
[1 #] e ®3HEB
¥2HHBI[3A8SH ()] [3H9B (B)]
1T1E /81N> FE — X
A—1(9:30)
29 3 7 53 4% v X
A—2(11:20)
AR —RKR—)LHYS5T
B—1(9:30)
4.% By K 5 3 v X
) A—1(9:30) |—
5 80 Jdro vy AV RA—X
1HE ,
3H28 B—1(11:00)
6. HFEHLBFEIr4LE4=%X ]
4 B—2(11:20)
7.c;.K7‘|:|‘\/73—7\“”5'E
3A2H B—2(12:50)
S AR LEFHHKLST 3
2 ¥ B Y H TX
188 —HEBE S3HA2B(H) 4X#NEFkiE BE
i) 5 — 24 =24 FE — - =
B—1 11:00| EHIIvA120R8—X | HITHBFI744—X| dtf1 |FS5I>X| 41 | FSIUX
B—2 | 12:50] GKIAvH—X |*BFRILEHFHKIST | B/E 957 B/E 977
188 Z—HHE 3HA8H(Xx) 4tXFEEkiZ A-BmE
il — 4 =54 FE — = ot =%
A—1 9:30| B/ BN\VE—X | H5T54A X GK R GK RAOE
B—1 9:30| tFAR—RAK—Ls57 | HEGRSTUX =0 | bIHrhF| =L | HIHLE
A—2 | 11:20 1. 2fE 3. 4% EHIE | 1. 2BRE | 3. 4BKE | 1. 28kFE
B—2 | 11:20| EHIrIvA2RE—X | GKIOvA—X | BHE | HIhEH| FELE | HIHFH
188 =HEBE S3SH9HR(x) 4t X#Ekim AM
i1 il — 521l =51 IFE — = =% |
_ . %£2HE ¥£280H wnwtan | F2HB | munsr | B28BH
ATT |90 a-ostems | s-omame | TUO |a-oma| TN [z omx

MEAEHERSDINENESDAN—2AIRTF)



FEORAFEFRAZHAGHER

20145 %

[2 £#B) e $2HH ¥30H
1H 3A2B8(H
F1BHBA2BE] | 30 8m(+)] |[3R9B (A)]
.95 7 544> XB
A—3(13:10)
24 BB RESI X8 10
C—1(11:00)
3. H I M HI7r/44—XB -
3 A—2(11:30)1
4. ERIrivyMR2—XB
C—2(12:30)
5.6 K IFZI By Hh=XB 5
0 B—3(13:10)
6. ARV EHKYISTB
C—3(14:00)
1T EBELAE5 A E—=XB 7
= H F Yy ¥ T X
2% —HH 3A2H(H) dJdX#ISF CcE
[iz1} B e — 214 =24 IE —3 _E =7 |
c—1 11:00| #BARFSIXB | HIrBI744—AB| 95TB =59B 4257B GKB
C—2 | 12:30| ESurovro28—2B | GKIAVH—AB | F4%B | /8B | BV 4B | BB/ &B
C—3 | 1400/ £MRIVEHKISTB| B/ H/N\VE—XB |FFIVXB|HIMNEHB | F5TXB| HIHEB
2% —HH 3A8H (L) 4t XFNErEkim A-BmM|E
[i] A — 4 = £14 FE —3 ot =
A—3 13:10| 95754 A2V RAB | HITHhEEI749—XB [R5V XB| BHIEE |FS5TXB| BHIEE
B—3 | 13:10| ®99rovro24—XB | £BAELEHHISTB| GKB /&8 GKB /&8
2% =HH 3A9H(H) 4t XFNFrEkim AM
[iz1} idi] — 24 =24 IE — —%E =% |
A—o | 1130 %2H8H %2HE %¥2HHB | 3288 | $2HEB | $2HH
' A—3EEBE B—3ialE |[A—3KEB—3KE|A—3KEIB—3KE

HEAEHEESDNENESDAN—ER/IRDTF]



